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THE OPEN UNIVERSITY OF SRI LANKA .
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
FINAL EXAMINATION - 2015

LEVEL 04 - MACRO ECONOMICS — MCU2207

DURATION: 03 HOURS

DATE: 05.04.2015 TIME: 1.30p.m — 4.30p.m

Answer Part A and any three (03) questions from part B.
For part A, 40 marks and each question in Part B carries 20 marks.

()

@

Part— A

Do you “agree” or “disagree” with the following statements? Explain your answer using
illustrations where possible.

(@)

(i)

(iii)

(iv)

)
(vi)

When an economy of a country goes into recession, the government should use
contractionery fiscal and monetary policies to get the economy out of recession.
(08 Marks)
High inflationary situation of a country could be controlled by using
contractionery fiscal and monetary policies. (08Marks)

According to the Philips Curve there is a positive relationship between inflation and
unemployment in the short run. (06 Marks)
If the value of domestic currency appreciates against the currencies of its major
trading partners that could increase the domestic exports and reduce imports.

(08 Marks)
According to the classical theory there is a direct relationship between money
supply and the price level of a country. (06 Marks)
In a two sector economy tax multiplier is higher than its expenditure multiplier.
(04 Marks)
(Total 40 Marks)

Part—B

Consider the details of a three sector economy give below.

@

(i)
(iii)

S = —68 + dy, (savings function)

I = 38 (investment expenditure)

G = 62 (government expenditure)

Marginal Propensity to Consume (M.P.C.) = 0.8

(All figures, in rupees biilion).

Derive Consumption Function from the Savings Function given and explain both
the Consumption and Savings functions using illustrations.

Find the equilibrium level of national income.

If the government introduces an autonomous tax of Rs. 10 billion (T =10),
find the new equilibrium level of National income.



3

)

3

©)

(iv)

V)
(vi)

(vii)

If the government introduces a 20% income tax in addition to the autonomousgagg ?M
and also transfer payments of 5 billion (TR = 5), find the equilibrium level of
National Income.
Calculate the expenditure, tax and transfer multipliers.
If the government opens the economy and following changes take place,
X =48 (Exports) M =40 + 0.2y (Imports)
Calculate the equilibrium level of National income.
Find the expenditure, tax and transfer multipliers.
(20 Marks)

Using IS/LM, framework explain whether you “agree” or “disagree” with the following

statements.
@) If the demand for money does not depend on interest rate at all, then the fiscal
policies are highly effective and monetary policies are ineffective.
(i)  Contractionery monetary policies shift the IS curve to the left.
(iii) ~ When Average Price level in the economy increases the LM curve shifts to the left.
(iv)  Inthe Liquidity Trap range fiscal policies are highly effective and monetary
policies are ineffective.
) IS curve shows the money market equilibrium and the LM Curve shows the goods
market equilibrium. (20 Marks)
(i) (a) Can the government rules and regulation create unemployment in a
country? Explain using illustrations.
(b) How reliable is the official unemployment rate of a country? Explain.
(©) Is it possible for a country to achieve zero level of unemployment?
Explain.
(ii) ~ What are the steps that can be taken to reduce Frictional, Structural, and Cyclical
unemployment of a country? Explain.
(20 Marks)
@) (2) Using illustrations differentiate between Demand - Pull and Cost- Push
theories of inflation.
(b) How useful are these theories in explaining an inflationary situation of a
country? Explain taking Sri Lankan economy as an example.
~(ii) Taking examples discuss the impact of high inflation on an economy of a cbuntry.
(20 Marks)
) (a) Differentiate between “Economic Growth” and “Economic Development”.
(b) What are the sources of Economic Growth? Explain.
(©) What is the role of government in stimulating economic growth?
Explain.
i) (a What are the sources of Economic Development?

(b) What are the strategies available for a government to achieve high economic
development? Explain.

(20 Marks)
-Rights Reserved-
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